5/8" “

T 51mm] |

[ [15mm] S

2"

#8x2 [M4x50] SELF-TAPPING
SHEET METAL SCREW (7 PER
FRAME @ 18" [457mm] O.C.)
(JK061)

INJECTION MOLDED CLIP
WITH 1/4-20 SQUARE NUT
(J4J002-INJRVA)

4
VN

5/8" DRYWALL (BY OTHERS)

CONT. ALUM. PLATE (J4C101-F)
CONT. ALUM. FRAME (J4A102)

I

FINISH: CLEAR ANODIZED

5 3/4" CONT. VINYL GASKET (J3D505)
[146mm]
STEEL CENTERING BAR (7 PER PLATE
@ 18" [457mm] O.C.) (J7J006-HDBW)
1/4-20 X 2" [M6x1x51] PHILLIPS FLAT
HEAD MACHINE SCREW (7 PER
PLATE @ 18" [457mm] O.C.) (JK031)
491-A07-050
MOVEMENT =
JOINT WIDTH HORIZONTAL | VERTICAL
us mm us mm us mm
2" 51 9/16" 14 1" 25

PROJECT:

CUSTOMER:

LOCATION:

SURFACE MOUNT FRAME WALL/WALL, CEILING/CEILING CONDITION

DATE: 9-7-05

APPLICATION- .
CENTERING BAR SYSTEM SCALE: 1:2 'nprOQ

DOC: CADJM.005/R4

For More Information Visit: Inprocorp.com




3"
[76mm]

N

i} \5

5/8"

J

[15mm]

\ -
6 3/4"

/1]

#8x2 [M4x50] SELF-TAPPING
SHEET METAL SCREW (7 PER
FRAME @ 18" [457mm] O.C.)
(JK0B1)

INJECTION MOLDED CLIP
WITH 1/4-20 SQUARE NUT
(J4J002-INJRVA)

5/8" DRYWALL (BY OTHERS)
CONT. ALUM. FRAME (J4A102)
CONT. ALUM. PLATE (J4C102-F)
CONT. VINYL GASKET (J3D505)

[171mm] '
STEEL CENTERING BAR (7 PER PLATE
@ 18" [457mm] O.C.) (J7J006-HDBW)
1/4-20 X 2" [M6x1x51] PHILLIPS FLAT
HEAD MACHINE SCREW (7 PER
PLATE @ 18" [457mm] O.C.) (JK031)
491-A07-075
MOVEMENT =
JOINT WIDTH HORIZONTAL | VERTICAL
uUs mm us mm us mm
3" 76 1-1/2" | 38 1-1/2" | 38
FINISH: CLEAR ANODIZED
PROJECT: DATE: 9-7-05
APPLICATION-

CUSTOMER:

LOCATION:

SURFACE MOUNT FRAME WALL/WALL, CEILING/CEILING CONDITION

CENTERING BAR SYSTEM

DOC: CADJM.005/R4

-~ Inpro.

For More Information Visit: Inprocorp.com



5/8"
[15mm]

4I|

——[102mm] /

7\

#8x2 [M4x50] SELF-TAPPING
SHEET METAL SCREW (7 PER
FRAME @ 18" [457mm] O.C.)

(JK061)

INJECTION MOLDED CLIP
WITH 1/4-20 SQUARE NUT

(J4J002-INJRVA)

\ 5/8" DRYWALL (BY OTHERS)
> CONT. ALUM. FRAME (J4A102)
T~ CONT. VINYL GASKET (J3D505)
\_ CONT. ALUM. PLATE (J4C103-F)

\ STEEL CENTERING BAR (7 PER PLATE

[197mm] \ @ 18" [457mm] O.C.) (J7J006-HDBW)
1/4-20 X 2" [M6x1x51] PHILLIPS FLAT
HEAD MACHINE SCREW (7 PER
PLATE @ 18" [457mm] O.C.) (JK031)
491-A07-100
MOVEMENT =
JOINT WIDTH HORIZONTAL | VERTICAL
US | mm | US | mm | US | mm
4" 102 2" 51 2" 51
FINISH: CLEAR ANODIZED
PROJECT: DATE: 9-7-05 [ ]
APPLICATION-
CUSTOMER: CENTERING BAR SYSTEM SCALE: 1:2 'npr 00

LOCATION:

SURFACE MOUNT FRAME WALL/WALL, CEILING/CEILING CONDITION

DOC: CADJM.005/R4

For More Information Visit: Inprocorp.com




6"

[152mm]

I

#8x2 [M4x50] SELF-TAPPING
SHEET METAL SCREW (7 PER
FRAME @ 18" [457mm] O.C.)

(JK061)

INJECTION MOLDED CLIP WITH
1/4-20 SQUARE NUT (J4J002-INJRVA)

)

5/8"

v 4

.

~

[16mm]

93\

-

(AT

5/8" DRYWALL (BY OTHERS)

CONT. ALUM. FRAME (J4A102)

CONT. ALUM. PLATE (J4C104-F)
CONT. VINYL GASKET (J3D505)

STEEL CENTERING BAR (7 PER PLATE

[248mm] \ @ 18" [457mm] O.C.) (J7J012-HDBW)
1/4-20 X 2" [M6x1x51] PHILLIPS FLAT
HEAD MACHINE SCREW (7 PER
PLATE @ 18" [457mm] O.C.) (JK031)
491-A07-150
MOVEMENT =
JOINT WIDTH HORIZONTAL | VERTICAL
US | mm | US | mm | US | mm
6" 152 | 2-1/2" 64 3" 76
FINISH: CLEAR ANODIZED
PROJECT: DATE: 9-7-05 [ ]
APPLICATION-
CUSTOMER: CENTERING BAR SYSTEM SCALE: 1:2 'npr 00

LOCATION:

SURFACE MOUNT FRAME WALL/WALL, CEILING/CEILING CONDITION

DOC: CADJM.005/R4

For More Information Visit: Inprocorp.com




[ZOZ’?anm]A‘

g}

[15mm]

FINISH: CLEAR ANODIZED

\

RS

#8x2 [M4x50] SELF-TAPPING SHEET
METAL SCREW (7 PER FRAME @
18" [457mm] O.C.) (JK061)

INJECTION MOLDED CLIP WITH
1/4-20 SQUARE NUT (J4J002-INJRVA)

5/8" DRYWALL (BY OTHERS)
CONT. ALUM. FRAME (J4A102)

\ CONT. ALUM. PLATE (J4C105-F)
) CONT. VINYL GASKET (J3D505)
[3310?;nm] \ STEEL CENTERING BAR (7 PER PLATE
\ @ 18" [457mm] O.C.) (J7J012-HDBW)
1/4-20 X 2" [M6x1x51] PHILLIPS FLAT
HEAD MACHINE SCREW (7 PER
PLATE @ 18" [457mm] O.C.) (JK031)
491-A07-200
MOVEMENT =
JOINT WIDTH HORIZONTAL | VERTICAL
Us mm uUsS mm UsS mm
8" 203 4" 102 4" 102

PROJECT:

CUSTOMER:

LOCATION:

APPLICATION-
CENTERING BAR SYSTEM

4
= INDro
SURFACE MOUNT FRAME WALL/WALL, CEILING/CEILING CONDITION ®

DATE: 9-7-05

DOC: CADJM.005/R4 ) o
For More Information Visit: Inprocorp.com




#

SHEET METAL SCREW (7 PER
FRAME @ 18" [457mm] O.C.)
(JK061)

INJECTION MOLDED CLIP WITH
10" 1/4-20 SQUARE NUT (J4J002-INJRVA)
[254mm]
/ #8x2 [M4x50] SELF-TAPPING

[17mm]

11/16" | '

FINISH: CLEAR ANODIZED

S
1(\

5/8" DRYWALL (BY OTHERS)
CONT. ALUM. FRAME (J4A102)

CONT. ALUM. PLATE (J4C106-F)

[406mm] CONT. VINYL GASKET (J3D505)
STEEL CENTERING BAR (7 PER PLATE
@ 18" [457mm] O.C.) (J7J018-HDBW)
1/4-20 X 2" [M6x1x51] PHILLIPS FLAT
HEAD MACHINE SCREW (7 PER
PLATE @ 18" [457mm] O.C.) (JK031)
491-A07-250
MOVEMENT #
JOINT WIDTH HORIZONTAL | VERTICAL
Us mm Us mm Us mm
10" 254 5" 127 5" 127

PROJECT:

CUSTOMER:

LOCATION:

APPLICATION-

DATE: 9-7-05

4
CENTERING BAR SYSTEM SCALE: 1:4 'nprOQ

SURFACE MOUNT FRAME WALL/WALL, CEILING/CEILING CONDITION

DOC: CADJM.005/R4 ) o
For More Information Visit: Inprocorp.com




#

12"
[305mm]

11/16" J

[17mm]

FINISH: CLEAR ANODIZED

19 1/16"

INJECTION MOLDED CLIP WITH
1/4-20 SQUARE NUT (J4J002-INJRVA)

#8x2 [M4x50] SELF-TAPPING
SHEET METAL SCREW (7 PER
FRAME @ 18" [457mm] O.C.)
(JKO61)

5/8" DRYWALL (BY OTHERS)
CONT. ALUM. FRAME (J4A102)

CONT. ALUM. PLATE (J4C107-F)
CONT. VINYL GASKET (J3D505)

STEEL CENTERING BAR (7 PER PLATE
@ 18" [457mm] O.C.) (J7J018-HDBW)

1/4-20 X 2" [M6x1x51] PHILLIPS FLAT
HEAD MACHINE SCREW (7 PER
PLATE @ 18" [457mm] O.C.) (JK031)

[484mm] :
491-A07-300
MOVEMENT =
JOINT WIDTH HORIZONTAL | VERTICAL
US mm US mm US mm
12" 305 6" 152 6" 152

PROJECT:

CUSTOMER:

LOCATION:

APPLICATION-

CENTERING BAR SYSTEM
SURFACE MOUNT FRAME WALL/WALL, CEILING/CEILING CONDITION

DATE: 9-7-05

SCALE: 1:4

iInpro.

For More Information Visit: Inprocorp.com

DOC: CADJM.005/R4




	491-A07-050
	Sheets and Views
	Model


	491-A07-075
	Sheets and Views
	Model


	491-A07-100
	Sheets and Views
	Model


	491-A07-150
	Sheets and Views
	Model


	491-A07-200
	Sheets and Views
	Model


	491-A07-250
	Sheets and Views
	Model


	491-A07-300
	Sheets and Views
	Model



